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Calcular porcentajes de decimales

Nombre:

1,89 x 60% =

5,02 x70% =

0,5 % 80% =

9,69 x 10% =

0,97 x 90% =

1,05 x 80% =

5,95 x50% =

1,46 x 90% =

0,29 x 40% =

6,25 x70% =

Fecha: Puntuacion:

8,49 x 40% =

9,28 x90% =

4,3 x30% =

0,58 x 10% =

7,2x20% =

3,35 x70% =

9,96 x 10% =

3,73 x90% =

2,39 x 60% =

9, 14 x 60% =
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Calcular porcentajes de decimales

Nombre:

1,89 x60% = 1.134

5,02 x70% = 3.514

0,5 x80% = 0.4

9,69 x 10% = 0.969

0,97 x90% = 0.873

1,05 x 80% = 0.84

5,95 x50% = 2.975

1,46 x90% = 1.314

0,29 x40% = 0.116

6,25 x70% = 4.375

Fecha:

Puntuacion:

8,49 x 40% = 3.396

9,28 x90% = 8.352

4,3 x30% =1.29

0, 58 x 10% = 0.058

7,2%x20% = 1.44

3,35 x70% = 2.345

9,96 x 10% = 0.996

3,73 x90% = 3.357

2,39 x60% = 1.434

9, 14 x 60% = 5.484
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